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𝟏𝟖𝟎
𝝅

𝟓𝟕. 𝟐𝟗𝟔°

 

 

 

https://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9_%D9%85%D8%B1%D9%83%D8%B2%D9%8A%D8%A9
https://ar.wikipedia.org/wiki/%D8%AF%D8%A7%D8%A6%D8%B1%D8%A9
https://ar.wikipedia.org/wiki/%D9%82%D9%88%D8%B3_(%D9%87%D9%86%D8%AF%D8%B3%D8%A9)
https://ar.wikipedia.org/wiki/%D9%86%D8%B5%D9%81_%D9%82%D8%B7%D8%B1
https://youtu.be/KJC58fa8zpM
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𝟏𝟑𝟎°

130° + 360° = 490°    

130° − 360° = −230°

−𝟗𝟎°
−𝟗𝟎° + 𝟑𝟔𝟎° = 𝟐𝟕𝟎°    

−𝟗𝟎° − 𝟑𝟔𝟎° = −𝟒𝟓𝟎°

2𝜋 𝑟𝑎𝑑 = 360°        𝜋 𝑟𝑎𝑑 = 180°

210° = 210° ×  
𝜋 𝑟𝑎𝑑
180°

=  
7𝜋
6

 𝑟𝑎𝑑
𝟓 𝝅

𝟔
=  

𝟓 𝝅
𝟔

 ×
𝟏𝟖𝟎

𝝅
= 𝟏𝟓𝟎°
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 اختر الإجابة الصحيحة :  

 

1 
30°

Ⓐ
𝝅
𝟐  𝒓𝒂𝒅Ⓑ

𝝅
𝟑  𝒓𝒂𝒅Ⓒ

𝝅
𝟔  𝒓𝒂𝒅Ⓓ

𝝅
𝟒  𝒓𝒂𝒅

2 

𝟑𝝅
𝟐

 𝒓𝒂𝒅

Ⓐ𝟏𝟖𝟎°Ⓑ𝟐𝟒𝟎°Ⓒ𝟏𝟐𝟎°Ⓓ𝟐𝟕𝟎° 

Ⓐ𝟗𝟓𝒎Ⓑ𝟗𝟒. 𝟐𝒎 Ⓒ𝟗𝟒. 𝟑𝒎Ⓓ𝟗𝟒𝒎

4 
Ⓐ𝟒𝟐𝟓°Ⓑ𝟑𝟔𝟎°Ⓒ−𝟐𝟎𝟎°Ⓓ−𝟖𝟏𝟐°

5 

Ⓐ 𝟏𝟐𝟔°Ⓑ 𝟏𝟓𝟎°Ⓒ 𝟏𝟎𝟐°Ⓓ 𝟓𝟓°

 ملحق الحل فهرس الفصل 


